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NEW QUESTION 1
Exhibit

Referring to the exhibit, how do you verify the status of the tunnel from R1?

A. Issue the ping 172.20.111.10 source 172.20.110.1 command.
B. Issue the ping 172.20.111.10 source 198.51.100.1 command.
C. Issue the ping 172.20.iii.io source 203.0.113.2 command.
D. Issue the ping 172.20. Il
E. 10 command.

Answer: C

NEW QUESTION 2
Which statement is correct about the FE80;:/10 prefix?

A. This prefix range is used for the link local address.
B. This prefix range is used on the loopback interface.
C. This prefix range is reserved for multicast applications
D. This prefix range is not reserved.

Answer: A

NEW QUESTION 3
Exhibit

You are advertising a summary route that represents your local network (172.20.0.0716) to both ISP A and ISPB. You want to influence all traffic sent to you from
ISP C to go through R2.
How would you accomplish this task?

A. On R1, prepend your AS number three times on the 172.20.0.0/16 route when advertising It to ISP 1.
B. On R1, change the local preference value to 250.
C. On R2. prepend your AS number three times on the 172.20.0.0/16 route when advertising it to ISP 2.
D. On R2, change the local preference value to 50.

Answer: B

NEW QUESTION 4
Exhibit
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Referring to the exhibit, which two statements are correct? (Choose two.)

A. The OSPF Interfaces are configured as point-to-point.
B. The ge-0/0'1.0 Interface is configured as passive.
C. The R2 device is an ABR.
D. Junos OS default OSPF hello timers and dead intervals are used on all interfaces.

Answer: BD

NEW QUESTION 5
Which two statements are correct about the way that BGP propagates routes by default? (Choose two.)

A. A route learned by EBGP will be re-advertised to IBGP peers.
B. A route learned by IBGP will not be re-advertised lo IBGP peers.
C. A route learned by EBGP will not be re-advertised to IBGP peers.
D. A route learned by IBGP will be re-advertised to IBGP peers.

Answer: CD

NEW QUESTION 6
Which two statements ate correct about the BGP next-hop attribute value? (Choose two.)

A. By default, the next-hop value is changed across IBGP links.
B. By default, the next-hop value is changed across EBGP links.
C. By default, the next-hop value is not changed across IBGP links.
D. By default, the next-hop value is not changed across EBGP links.

Answer: A

NEW QUESTION 7
Which two LSA types are permuted in OSPF totally stubby areas? (Choose two.)

A. Type 1
B. Type 3
C. Type 5
D. Type 7

Answer: CD

NEW QUESTION 8
Which two statements are correct when using LDP? (Choose two.)

A. The lnet.3 table will contain only the paths explicitly defined.
B. The inet.3 table will contain a full mesh of label-switched paths to other LDP-enabled routers.
C. LDP label-switched paths are created by configuring LDP on at least one physical router interface.
D. LDP label-switched paths are created by configuring LDP on the loopbacK Interface.

Answer: BC

NEW QUESTION 9
What are three types of MPLS routers? (Choose three.)

A. transit routers
B. peering routers
C. egress routers
D. aggregation routers
E. ingress routers

Answer: ACE

NEW QUESTION 10
Exhibit
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The routers shown in the exhibit are configured for segment routing.
In this scenario, what is the adjacency SIO that Router B advertises to Router A?

A. 12
B. 10.1.1.1
C. 10.1.1.2
D. 11

Answer: B

NEW QUESTION 10
Exhibit

Referring to the exhibit, internal BGP between R1 and R2 is not establishing. What is the problem In this scenario?

A. R1 does not have a route to 192.168.200.2.
B. R1 and R2 must each have unique AS numbers.
C. R1 needs to be configured with an explicit router ID.
D. R1 needs to be configured with a next-hop self policy.

Answer: A

NEW QUESTION 12
Exhibit

Referring to the exhibit, what is the minimum number of LSPs required to support alt four networks?

A. 1
B. 2
C. 8
D. 4
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Answer: C

NEW QUESTION 15
An OSPF router does not have a router ID configured.
In this scenario, which statement is correct about the router ID?

A. The Junos OS will use the IP address assigned to the interface with the lowest MAC address.
B. A router ID will not be assigned until it is manually configured.
C. The Junos OS will use the IP address assigned to the loopback interface for the router ID.
D. The Junos OS will use the IP address assigned to the Interface with the highest priority.

Answer: B

NEW QUESTION 16
Exhibit

Which two statements ate correct about the actions taken as the packet traverses the service provider MPLS network from Site 1 to Site 2 as shown in the exhibit?
(Choose two.)

A. R2 will perform a lookup using the mpls.0 table.
B. R1 will perform a lookup using the lnet.3 table.
C. R1 will perform a lookup using the mpls.0 table.
D. R2 will perform a lookup using the inet.3 table.

Answer: A

NEW QUESTION 21
Exhibit

Referring to the exhibit, which two statements are correct? (Choose two.)

A. Prefixes in Level 1 will be redistributed to Level 2.
B. Prefixes In Level 2 will be not redistributed to Level 1.
C. Prefixes in Level 2 will be redistributed to Level 1.
D. Prefixes in Level 1 will not be redistributed to Level 2.

Answer: C
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NEW QUESTION 26
Exhibit

You have configured graceful RE switchover (GRES), however you cannot complete the show system switchover command.
Referring to the exhibit, what is the problem?

A. The command is only available if non-stop routing is enabled.
B. The command is only available on the backup Routing Engine.
C. The command is only available If a backup router is configured.
D. The command is only available If graceful restart is enabled.

Answer: B

NEW QUESTION 29
Which statement describes integrated routing and bridging (IRB) interfaces?

A. An IRB interface Is an IP gateway For hosts of a bridge domain.
B. An IRB interface assigns interfaces to VLANs.
C. An IRB interface enables Layer 2 switching on the router.
D. An IRB interface defines a bridge domain.

Answer: C

NEW QUESTION 33
Exhibit
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The LSP is not establishing correctly.
Referring to the exhibit, what should you do to solve the problem?

A. Enable traffic engineering for the OSPF protocol.
B. Enable traffic engineering for the IS-IS protocol.
C. Enable traffic engineering for the BGP protocol.
D. Enable traffic engineering for the RSVP protocol.

Answer: D

NEW QUESTION 36
You are asked to configure an LSP which uses the OSPF link state database for path computations. Which two statements are correct in this scenario? (Choose
two.)

A. You must use the no-cspf parameter in the label-switched-path configuration.
B. Traffic engineering extensions ate enabled by default In OSPF.
C. Traffic engineering extensions are not enabled by default in OSPF.
D. You must use the policing parameter in the label-switched-path configuration.

Answer: AC

NEW QUESTION 40
You are deploying link aggregation groups.

A. By default, what are two considerations in this scenario? (Choose two.)
B. There should only be four member links per LAG.
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C. All the ports must have the same speed.
D. Member links are required to be contiguous ports.
E. Member links can reside on different members within an MC-LAG.

Answer: BD

NEW QUESTION 42
......
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